


(ef Bt’/m 2 W"

o B oboloteaitin = AN 1—EF

o !:2:‘ ; 'éyw

, e - fan mw'a;{-a%/,ﬁ% ,
26 Kael: /f::&m it =

105

-y —  r F19:05)
‘ IR o —si
' !

IN



(_01) ct

) Flocnitey ime (el et!) =Sy s
T =
At= 2t gt =L
i Aot <2
Butep 3@&%3 ineLabersys.
?msf""'"‘m / A Aoy verdte & Hiitce Saole
Labys, s e
M = Pptn _’&" %5. _:?i‘ 'ffﬂ’-&/*';a .’



'F
Yﬁ-—-:a.,m:o = T ;_(3“529-/1>

Y, _ _[E_ _if -
2=2, m=A —-Y —*-—qw_ 3 e  Bcosh sin
=

]

Do T
,@=4,m=a] = %__ 0520
= 2 2 |
Gmw ] 31

1
6 . ,
w| o ot s
2 { : -
¢ [}
- :
° ] 2 2

S
[ od
_-g\{

o

Blok 8, Adfabe 3






